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Problem quickname: 1595

1)

Expand the product as shown in example a).

a) (d+e)(a—b)=d(a—0b)+e(la—0b) =ad+ ae — bd — be

b) (d+b)(a —b) = d(a — b) + b(a — b) = ab+ ad — b*> — bd

c) (e—10)(a+b) = e(a+b) — 10(a + b) = ae — 10a + be — 10b

d) (v+z)(v+3)=vw+3)+z(v+3)=v>+3v+vr+ 3z

e) (e+b)(a—10) =e(a—10) + b(a — 10) = ab+ ae — 10b — 10e

) (b+19)(a +b) = bla +b) +19(a + b) = ab + 19a + b> + 19b

) (z=2)(v+w) =z(v+w)—21(v+w) =vz—21v+ wz — 21w
) (a+b)(a—b)=ala—0b)+bla—"b)=a>— b

i) (c+d)(a—b)=cla—0b)+d(a—0b) =ac+ad— bc— bd

i) (v+2)(v—36) = v(v —36) + z(v — 36) = v? — 360 + vz — 362

2)

Expand the product as shown in example a).

a) (x —z)(v+w) =z(v+w)—z2(v+w) =vr—vz+wr —wz

b) (d+b)(a —b) =d(a —b) + bla — b) = ab + ad — b*> — bd

¢) (e4b)(a—b) =e(a —b) +b(a—b) = ab+ ae — b> — be

d) (y —v)(v—w) = y(v —w) = v(v —w) = —v* +vw + vy — wy
e) (y —5)(v—w) =y(v—w) —5(v—w)=vy—5 —wy+ 5w

£) (b+d)(a—b) =b(a—b) +d(a—b) =ab+ad — b* — bd

) (w—2)(v+w)=wk+w) -z +w) =vw—vr+w?—wr
h) (z+y)(v—w)=xv—w)+ylv—w)=vr+ovy— wg — wy
1)(w— 2)(v—w)=wlw—w)—2(v—w) =vw— 20— w* + 2w
) (z—=v)(v+w)=2v+w)—vv+w)=—v>—vw+vr+wr
3)

Expand the product as shown in example a).

(wH+y)(z4+z)=wiz+2z)+ylz+1x)=we+wz+zy+yz
(y +v)(w+12) = y(w + 12) + v(w + 12) = vw + 120 + wy + 12y
(w+a)(z+w)=v(z+w)+z(z+w) =vw+vz+wr+xz
(x+v)(w+2)=z(w+2)+v(w+ 2) =vw+ vz +wr + 22
(b+d)(c+a)=0blc+a)+dlc+a)=ab+ad+bc+ cd
J(c+d)(a+e)=cla+e)+d(a+e)=ac+ ad+ ce+ de
g) (b+e)(a+13) =bla+ 13) +e(a+ 13) = ab+ ae + 13b + 13e
h) (y+13)(z + 16) = y(z 4+ 16) + 13(z + 16) = yz + 16y + 13z + 208
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Solutions to smp-1595-1/QCDL

i) (c+d)(a+3) =cla+ 3)+d(a+3)—ac+ad+30+3d
j) (d+10)(e+c) =d(e+c) + 10(e 4+ ¢) = c¢d + 10c + de + 10e

47) Quick:
1595

Expand the product as shown in example a).

a) (e+a)(d—>b)=e(d—b)+a(d—0b) =—ab+ ad — be + de
b) (c+e)(b—a)=c(b—a)+elb—a)=—ac— ae+ bc+ be
¢) (e+c)(a—0b)=ela—0b)+cla—b) =ac+ ae — bc — be
d) (d+c)(e—b) =d(e —b) 4+ c(e — b) = —bc — bd + ce + de
e) (a+e)(c+b)=alc+b)+e(c+b)=ab+ ac+ be + ce
f)(b+d)(a—e)—b(a—e)+d(a—e)—ab+ad be — de
g) (d+c)(a—b) =d(a—1b)+cla—0b) =ac+ad —bc — bd
h) (c—e)(d+b) =c(d+b) —e(d+b) = bc — be + cd — de
i) (z+y)(z—w)=z(z —w) +y(z —w) = —wr —wy + vz +yz
D 2+ 2)(0+) = 20 +y) + 2(0 + ) = vz + vz + 7Y + 42
Good Luck!
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